SENIOR WRITTEN TEST

2011 HIPPOLOGY

***You may write on this test, but be sure to mark all answers on the answer sheet, not on this test.

26. Which is NOT considered a “point” in reference to coat color?
D-Griffis, 36
26. Ear rims
b.  mane
c.  tail
d.  muzzle
27. Which ancestor of the modern day horse stood on a single toe?

27. Pliohippus
b. Merychippus 
c. Eohippus 
d. Mesohippus
A-Griffis, 10
28. What was the first use of horses by man?
C-Griffis 12
28. work
b.  transportation 
 c.  food
d.  war
29. Which of the following does not apply to the gaskin area of the horse?
D-Dictionary 37
29. Between hock & stifle     b.  tibia     c.  like human shin     d.  like human thigh
30. Which of the following would never apply to a “grade” horse?
A-HIH, 210-3
30. Registered 
b. unregistered
c. purebred
d. crossbred


31. Which of the following would NOT be true for a “base wide” conformation horse?
C
31. Toed out      b.  narrow-chested      c. excess wear outside      d.  wing in 
HIH 230-3
32. Which blemish or unsoundness is associated with the hock?
A-HIH 230-4
32. Bone spavin
b.  side bone
c.  splint
d.  ringbone
33. Which of the following is NOT TRUE relative to the vision of a horse?
D-Griffis 56
33. Monocular vision
b.  binocular vision c.  350° range of vision    d.  vertical pupil

34. Which of the following is a symptom rather than a sign of illness?
C-Griffis 166
34. Elevated temperature     b.  rapid heart rate   c.  not eating   
d.  positive Coggins test
35. What is a likely outcome from excessive trimming of the frog?
B-HIH 505-4
35. Thrush
b. contracted heels      c.  canker
d.  scratches
36. Deficiency of which vitamin is associated with poor hoof quality? 
A-HIH 505-2
36. Vitamin A
b.  Vitamin B12
c.  Vitamin C
d.  Vitamin D
37. Which of the following is LEAST helpful in maintaining hoof moisture? 
D-HIH 505-6
37. Environmental water   b. Systemic water   c. Tubule arrangement   d.  Periople varnish
38.
At what age does the horse have a “smooth” mouth?


D-HIH 240-3

a. 5 years
b. 7 years
c. 9 years
d. 11 years

39.
What is the name of the tooth found in all males and 20% of females?
C-HIH 415
a. Wolf tooth
b.  deciduous 
c.  canine
d.  cap
40. 
What is the shape of the biting surface of the incisor of a horse that is 20 years and older? A
37. triangular 
b.  round
c.  oval
d.  flattened 
HIH 240-3
41. 
What structures are the functional units of the lungs where gas exchange occurs?
A-HIH



a. alveoli 
b.  brochioles
c.  capillaries
d. ducts
104-2
810-1
42. Which of the following does NOT apply to the disorder we refer to as “heaves”.
Griffiths, 181
a. COPD
b.  RAO
c.  roaring
d.  empysema 
C
43. Which sense is the primary tool of identification for the horse?
D
a. vision
b.  hearing 
c.  touch
d.  smell
Griffiths, 61
44. Which of the following is NOT useful in aging horses by their teeth?
C
a. Galvayne’s groove      b.  incisor eruption       c.  molar eruption      d.  cups
HIH 240-5
45. Which of the following is considered a MICROmineral in the horse?
A
a. iron
b.  sulfur
c.  potassium
d.  chloride
Griffiths,142
46. Which of the following does NOT apply to Habronema?
B, Dict., 39
a. Stable fly
b.  stomach ulcer
c.  summer sore
d.  House fly
47. Which of the following nutrients should be lowered in diets of the older horse?
D
a. protein
b.  energy
c.  Phosphorus
d.  fiber 
HIH 450-2
48. When comparing horses with donkeys, which trait is not a distinguishing trait?
A 
a. Dorsal stripe
b.  chestnuts
c.  ears
d.  tail 
Griffiths,20
49. Which of the following is a term for both a behavioral and a reproductive disorder?
C
a. pneumovagina
b.  cribbing
c. wind sucking
d. Flehmen 
HIH 425-6
50. Which type of English saddle would be most suited to an American Saddlebred?
A
a. Cut back
b.  close contact
c.  forward seat
d.  dressage 
HIH 1100-3
51. Which of the following applies to Type 1 muscle fibers?
B, HIH 151-1
a. Fast contraction
b.  uses oxygen well    c.  glycogen as fuel
      d.  high intensity work
52. American breed noted for compact, muscular body, versatility, and tractable temperament. 


a. Morgan
b.  Appaloosa
c.  Connemara
d.  Arabian 
A, HIH 151-1
53. Trait associated with the Overo color pattern. 
D, HIH 159-3
a. White crosses back   b.  4 white legs    c.  “normal” head markings  d.  one color tail
54. What aspect of skeletal structure is most critical for balance? 
C, HIH 220-6
a. Depth of heart
b.  Length of hip
c.  Slope of shoulder
    d.  Length of shoulder
55. Which breed registry is located in Lexington Kentucky? 
B, HIH 157-1
a. AQHA
b.  Jockey Club
c.  USTA
d.  APHA
56. Which component of blood is associated with the immune system? 
B, HIH 830-1
a. erythrocytes
b.  leukocytes
c.  platelets
d.  hemoglobin


57. Which of the following does NOT apply to skeletal muscle?
A-HIH 840-1
37. involuntary
b.  striated
c.  myofibrils
d.  calcium pump
58. Which of the following is NOT a source of ATP generation during exercise?
D-HIH 850-1
37. Creatine phosphate b. oxidative phosphorylation  c. glycolysis  d. gluconeogenesis
59. Which word or phrase does NOT apply to horse sweat?
C-HIH 860-3
37. Potassium loss
b.  water loss
c.  isotonic
d.  sodium loss
60. Which part of the mare reproductive system is the most exterior?
B-HIH 910-1
37. vagina
b.  vulva
c.  urethral orifice
d.  vestible
61. What reproductive organ is exposed when the mare “winks” at the stallion?


37. vagina
b.  cervix
c.  clitoris
d.  vestibule C-HIH 960-1
62. What roughage source would have the lowest moisture content?
D-Lewis, 46
37. haylage
b.  silage
c.  pasture  
d.  hay
63. What pasture grass generally produces the most and best forage in Florida?
C
37. fescue
b.  timothy
c.  bahia
d.  orchard grass 
Lewis, 47
64. Which parasite egg is round in shape and has a thick outer coating?
A-Lewis, 171
37. ascarid
b.  pinworm
c.  strongyle
d.  tapeworm
65. Which skeletal disorder is NOT associated with a rapidly growing horse?
B-Lewis, 143
37. wobblers
b.  ringbone
c.  epiphysitis
d. club foot
66. What word best applies to postmortem exam of a horse?
C-Lewis, 206
37. autopsy
b.  necrosis
c.  necropsy
d.  forensic
67. Which gait does not have a suspension phase?
A-Griffiths, 78
37. foxtrot
b.  trot
c. canter
d. pace
68. How many divisions are offered in the Florida Area and State Shows?
B, Rulebook 5
a. 5
b.  4
c.  3
d.  6
69. How many cones are used in the Western Riding patterns 2, 3, & 4 (not incl. log)?
D
a. 5 cones
b.  6 cones
c.  8 cones
d.  10 cones
Rulebook
70. Which bit would NOT be acceptable in the Dressage class?
C-Rulebook
a. Racing snaffle
b.  Dr. Bristol
c.  Weymouth
d.  Rotary bit
71. In what class is a horse judged on performance, manners, hunting pace, style of jumping, way of going and suitability for actual use on a trappy hunting field?
B-Rulebook
a. Hunter under saddle
c.  Working hunter

b. Handy Hunter
d.  Equitation over fences

72. Which breed of horses would not fit the “intended” breeds for the gaited division?
A
a. Appaloosa
b. Spotted Saddle Horse   c.  Paso Fino
   d.  TN Walker 
Rulebook
(73-82)  Match the related terms.
Griffiths, 186-189
73. Tapeworm
2nd B
74. Strongyles
1st A
75. Strongyloides
1st E
76. Horn Flies
2nd C
77. Stable Flies
1st C
78. Tabanids
2nd D
79. Mosquitoes
2nd E
80. Bot flies
1st D
81. Ascarids
1st B
82. Ringworm
2nd A


A.
Bloodworms
B.
Large roundworms
C.
Piercing mouth piece
D.
Internal & external pest
E.
Mare’s milk
A.
Fungus

B.
Orbatid mite
C.
Cattle pest
D.
Horse flies
E.
Encephalomyelitis

83. Which of the following would not be considered and electrolyte?
A-Dict., 29
a. Fe
b.  Na
c.  Cl
d.  K
84. Which is a fat soluble vitamin?
D-Dict., 29
37. Vitamin C
b.  Vitamin B12
c.  thiamin
d.  Vitamin K

85. Which hormone is important in foaling and milk “let down”?
C-Dict., 60
37. lactogen
b.  progesterone
c.  oxytocin 
d.  vasopressin

86. Which of the following is a possible outcome of too much energy in the ration?
Griffiths,144
37. Unthrifty 
b.  shorter life span
  c.  slow growth
d.  reduced milk prod.
B
87.  Which muscle crosses the jaw bone and aids in chewing? 


A-Griffiths, 204
a. masseter  
b. brachiocephalus       c. splenius 
d.  semitendinosus
88.  For what horse behavior is the stay apparatus important? 


D-Griffiths, 204
a. play 
b. ingestive 
c. epimeletic 
d. sleep

89.  Which artery supplies blood to the brain? 


C-Griffiths, 208


a. pulmonary
b. renal 
c. carotid
d. aorta
90.  What term means “toward the head”? 


A-Griffiths, 200
a. cranial
b. ventral  
c.  dorsal
d. proximal
91.  What is the hormone produced by the anterior pituitary that induces ovulation? 
D
a. prostaglandin   
b. progesterone 
c. hCG 
d. LH 
Griffiths, 200
92.  Which is considered a base coat color? 


D-Griffiths, 43
a. bay 
b. black 
c. chestnut 
d. all of the above

93.  How many pairs of chromosomes does a donkey have? 


B-Griffiths, 20


a. 32  
b. 31  
c. 62  
d.64

94.  Which of the following is NOT considered a “primitive” marking? 

C-Griffiths, 38
a. dorsal stripe 
b. cobwebs on forehead c. dapples
d. zebra marks on legs
95.  What do you call a stimulus which causes a response without any prior association? 
B

a. acquired  
b. unconditioned  
c. contingent  
d. dependent
HIH 
96.  What is a vital sign that is routinely checked?   


A-HIH 425-1 
a. temperature  
b. nasal discharge    c. lameness  
d. all of the above

97.
What term means removal of the testicles? 


D-Dict., 18
a.  gelding
b. cryptorchid
c. neuter
d. castrate

98.
What word applies to “fight or flight”? 



D-Dict. 31 

a.  adrenalin
b. epinephrine
c. stimulant
d. all of the above

99. 
What is a hematocrit used to determine? 


A-Dict., 60 

a.  Packed cell volume b. resting heart rate  c. exercise tolerance d. immune response

100.
What drug, once used as a tranquilizer, is now known to possibly cause gut paralysis?

a.  Ace promazine
b. dormosodine
c. reserpine
d. Rompun 
C-Dict., 71 
DO NOT TURN OVER THIS TEST  UNTIL YOU ARE

 INSTRUCTED

( Good Luck!
(Remember, you must use a pencil on the answer sheet.  If you don’t have one, ask to borrow one now.
